Poradi operaci

Poradi operaci

Vypocitej:
(a) 5+4x%3
(b) 4x%x3+5

(c) 6+10=+2
(d) 17+20-+4
(e) 30—-10x2
(fl 30—-20+4

Vypocitej:
(@) 5+4x3
(b) 4x%x3+5

(c) 6+10=+2
(d) 17+20+4
(e) 30—-10x2
(f) 30—20+4

Vypocitej:
(a) 4+ 3?2
(by 5%2-—3

() 6%2+3x4
(d 43-30=+6

(e) 2 x5?
(f) 10-—23
Vypocitej:

@ (5+2)x4
(b) 100+ (3+7)

(0 (124+4)x3-10
(d) 35+ (7—2)+10
(e) (42+7)—22+38
) (6x3)—(16+4)

Vypocitej:
(a) 4+ 3?2
(by 5%2-—3

() 62+3x4
(d 43-30=+6

(e) 2 %52
(f) 10-23
Vypocitej:

@ (5+2)x4
(b) 100+ 3B +7)

(0 (124+4)x3-10
(d 35+(7—-2)+10
(e) (42+7)—22+8
fH (6x3)—(16+4)

Vypodcitej:

(a) 10+5x4—52

(b) 72+9—4+(9—-6)>2
() 16—vV9+5x7

(d) 10>—-+81+3x4

Vypocitej:

(a) 10+5x4—52

(b) 72+9—4+(9-6)>
() 16—V9+5x7

(d) 102-+/81+3x4

Pridej zavorky, aby platilo:
(a) 20—-5x%x3 =45

(b) 5+4+4-2%x6=17
(c) 12436+-6-—-2=21

Pridej zavorky, aby platilo:
(a) 20—-5x%x3 =45

(by 5+4+4-2%x6=17
(¢ 12436+-6—-2=21




